
Inversionsbank Hang Up(100330)



Washer:(φ8) Lock Nut:(M6) Lock Nut:(M8)

Inside PAN-HEAN Bolt:(8*50)Hex Bolt:(M8*35)

Hex Bolt:(M8*40)

Hex Bolt:(M8*20)

Hexagon socket head

cap screws:(M8*10)

Hex Bolt:(M8*45)

Hex Bolt:(M8*30)

Hex Bolt:(M8*16)

Hex Bolt:(M6*40)

56X 1X 25X

2X14X

6X

4X

1X

1X

4X

2X

1X



67
0m
m

15
30

mm

1200mm

Maximum load 200KG



1

M8*35 φ8

M8
φ8

M8*35 φ8

M8
φ8

M8*35
φ8

φ8M8

M8*35
φ8

φ8M8

Washer(M8)-8PCS Lock Nut(M8)-4PCS

Hex Bolt(M8*35)-4PCS



2

M8*30 φ8 φ8 M8
M8φ8 φ8 M8*30M8*30 φ8 φ8 M8

M8φ8 φ8 M8*30

Washer(M8)-8PCS Lock Nut(M8)-4PCS

Hex Bolt(M8*30)-4PCS



3

M8*40 φ8 φ8 M8

M8*40 φ8 φ8 M8

M8*40

M8*40

φ8φ8M8

φ8φ8M8

Washer(M8)-8PCS Lock Nut(M8)-4PCS

Hex Bolt(M8*40)-4PCS



4

M8*
50

M8*
40

φ8

φ8

M8

M8*
40φ8

φ8

M8

Inside PAN-HEAN Bolt(8*50)-1PC

Washer(M8)-4PCS Lock Nut(M8)-2PCS Hex Bolt(M8*40)-2PCS



5

M8*35φ
8 φ8 M8

φ8 φ8
M8

M8*35

M8*35 φ8 φ8 M8

M8*35 φ8 φ8 M8

φ8 φ8
M8

M8*35

φ8 φ8
M8

M8*35

Washer(M8)-12PCS Lock Nut(M8)-6PCS

Hex Bolt(M8*35)-6PCS



6

M8*20φ8

φ8 M8
M8*20φ8 φ8 M8

M8*20

M8*20

φ8

φ8

φ8

φ8

M8

M8

Washer(M8)-8PCS Lock Nut(M8)-4PCS

Hex Bolt(M8*20)-4PCS



7

M8*50

M8
*4
5

φ
8

φ
8

M8

Washer(M8)-2PCS Lock Nut(M8)-1PC Hex Bolt(M8*45)-1PC

Inside PAN-HEAN Bolt(8*50)-1PC



8
Hex Bolt(M6*40)-1PC

Lock Nut(M6)-1PC

M6*40

M6



9

M8*16
M8*16

φ8
φ8

M8*10

Washer(M8)-2PCS Hex Bolt(M8*16)-2PCS

Hexagon socket head cap screws(M8*10)-1PC



10
M8
*3
5 φ

8

M8
*3
5 φ

8

M8
*3
5 φ

8

M8
*3
5 φ

8

Washer(M8)-4PCS

Hex Bolt(M8*35)-4PCS


